Tnpsc General Science Important Questions By Winmeen

When diameter of the objective lens of a telescope increases, the resolution of the telescope

decreases

M increases”

(C) remains the same

(D) depends on the focus length of the lens

QsranarGpraduie Qurmdr sldmaudien el s b siflsfa@h Cung, OgraaGpriden Siper smmesf
@  sepysd | . |

B) sdsfssn

(C)  wmprg .

(D) Qeemalen Gelws dgrerevena Gh___| (GG DD

Who was produced and tested the first hydrogen bomb?
W Edward Teller and Stanislaw Ulam (B) Robert Oppenheimer
(C) Fukui and Miyamoto (D) D.A. Glaser

@anigen Aaingenm. s pedld e marsd sms Aoy ses Qg B9 Eseurt wmi?
(A)  enleuin_ Qsei wopmb suLmaflsvaT e anb
B)  gruil gliuenGapdor :
(€C) Syl whmd BwGom Gor
| (D) DA ACensit

The relative humidity of the atmosphere is determined with a _

(A) hydrometer Whygrﬂmeber
(C) hypsometer D) h}’drﬂphnne
auefan_asferg sri Friugsdoans semLfiyb smedl

(A) ean Cpmbloi (B) ﬁﬂﬂpﬂuﬁ‘ﬁf_l_ﬁ'
(C) afluCeomblf (D)  evapl Gor.Gumen
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Which of the allotropes of carbon has natw;:rk of 20 hexagones and 12 pentagones of r:m%n
atoms?

(A) diamond M fullerene
(C) graphite | (D) carbon nano tubes

snivaflen s Up Capmen agebfld smuda sgpssand e 20 spCamar Lo gyth
12 grsGares aumeLawey sraniuGAapg? ' |

(A) eoLwerm’ _ (B) JSyagnfien

€y Agnleoul D)  smiues prGenm @

One among the following is not an insecticide

(A)  Methoxychlor- *{ Pheromone
- (Cy Heptachlor (D) Gammaxene

Epsararuenapile eg Lifs0amaed side
(A  BpsriadiGemi B) GyGuomen
(C) Qapu méGerni (D) Gswréedler

Paulson spends 75% of his income. His income is increased by 20% and he increased his
expenditure by 10%. Find the percentage increase in his savings.

A  27% : _ 50%
© 30% D) 28%

undser Suany  aGorasfd  75% OQswey uengpdpren. Sjerg  euBLtemb  20%
sfaflésouflpy. st sway Qsoma 10% sfsfsdprea aellod suag Cadlubde
aggemen ell(péan® siflsfadng?

A 27% C(B)  50%

(C) 30% . (D) 28%
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Name the disease caused due to the deficiency of Vitamin-C.
{A) Night blindness .

(B) Beriberi
(D) Pellegra

eflLuflén-C ullehr anpuim_ig.ame & am_n@ih Gpmi erg?
(A)  wrewd s - ®) QuiQuf
(C) eusiel ({0 Quﬁaméqn

Which one of the following forms of protein is stored in leguminous plants?
\u‘!" Albumin (B) Glotelin

(C)  Prolamine | | (D) Globulin |
2
Qavsalienev graurrseics CaflsaiuBb Lrs senwey Seralmeuatabmer erg?
(A e fen ’ (B)  @CemQuaar
(©)  yCpresemiwen ' (D) @Camydlen

The acidity of the rain water ia.- measured by the acale
CVIRY s . ®) dB
pH (D) - em

wenip Bler sificwgsarenna sendsiiLuanupin ereeu
(A Qs _ (B) w.a.
() das - (D) Qs.b.
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In which organ the RBC is synthesised?

(A} Spleen
M Bone marrow
(© . Liver
(D) Heart

@aupdé aps e gl @oss Haliy Hp Qeoser e mandapen?

(A)  wanefyd

(B) egubywRegm

C) sadga

@ @suw

Corpus Luteum is formed from |

(A) Corona radiatia M Graafian follicle
(C) Zona pellucida (D) Primordial follicle

SeupBle @mba sriruen @iujnund e mardenng
(A)  aGoremm Grig G (B) dgmaRwer urailade
(C) Gemenm Quebgydlm D)  apge flenar umelladlad

In the following crystals which is the Piezo electric crystal?
(A) Diamond ’ ’M Quartz
(O)  Sodium chloride (D) _ Silicon

EpEsaar Ly sRisaiia arg 5Csm-Slen aﬁ]&rma.; Ul ELDIELD?
(A)  emamb (B) @eurieh
(C) Gsmguib @Gamang (D) Adlsarer
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The process of improving human race genetically is called
Y Eugenics (B) Euthenics
(C) Euphenics (D) All of these

onGud fFuns wels Gasos CubuBsgid wpen
(A) wQgeafsa (B) w@seflssn
(C) wQueise (D) @weu sievanggnd

" Which of the following is preferred for accelerating electrons?

Betatron (B) Cyclotron
(C) Van de Graft Generator (D) Synchrotron

Epsam_supper ey creslgreean op(Rad ol Gaushe LuaTLHEnE?
(A)  SeomCgmen B) es&Cermniyren

(C)  euman g Agmi Qe i (D) &enaGom_ymen

Which among the following is correct?

Alloy " Composition
(A) Duralumin : Al+ Cu+ Mg+ Ag
| (E} Germanh Bilvér = Cu_+ In+C
%" Gun metal : Cu+Zn+ Sn
(D) Solder: Pb + Al

Spsramueupiier sflwner e erg?

2 Cayrasd swenal Elenusy
(A)  gurelen: Al+Cu+ Mg+ Ag -
(B) Qgpiwen Adaur : Cu+Zn+C
(C) s@reCansd: Cu+Zn+8n
(D)  smebiit: Pb + Al
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The conductance due.to ions present in one cm cube of material is known as

(A)
(©

partial eonductance

equivalent conductance

specific conductance
(D) molar conductance

S sen Q.18 siaraydrar Aunafiss 2 den Siwelsefien sz Hper Qaany sifiuuGeapg

(A)

uEHwere] st ggHlpen

©  sorer sLpgHoes

Match the following -

(a)
(b)
(c)
(d)

(A)
(B)
©

o 2

Chloroplast
Gene
Prokaryote
Chromosome

(a) (®)

t-
= Lo 2 M

QUi s :

(a)
(b)
©
(d)

(A4)
(E)
©
D)

WETAE 2 i F T
LDITLI§H
LCrmEaMGuwim_
g@qnﬁmrrﬁ:!m.i:

(a) (b)

[ - R S T
- - -]

e s = R

(c)

e e

o

(d)

UG e B G

I

(d)

G = b L0

B)  Huw s fgidpen
(D) Cuonant s_sgdoen

Hereditary unit
Photosynthesis
Waldeyer
Bacteria

unpbufiu e
paflEGCarsans
suma LT

unde fAuwir
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Complete the given equation of oxidation of glucose.

c.,H,ﬂ, +60, -
300, +2H,0+ Keal ®) 8CO, +6H,0+Kcal
qf 6CO, + 6H,0 + Keal D) 6CO, +2H,0+Kcal

£Cyp Qempéstiu_Herea HEnaCans Ssafipbabmb swanurlgenar LLTEd Cals.
C.H,0, + 60, —»

(A)  3CO, +2H,0+Kcal '(B) 3CO, +6H,0+Kcal

(©)  6CO, +6H,0 + Keal (D) 6CO, +2H,0 +Keal

The plastic household crockery is prepared by using
(A) Melamine and tetraflucroethane
(B) Malonic acid and hexamethyleneamine
(C) Melamine and vinylacetate
Melamine and formaldehyde

@ e uCuragdparen Gemeavigé Aurmlsdr Geapdelmbs swurfésiu@damern?
(A) Cuweenwen inppbd AL rryGermGrr FrgGgen

(B) wCanafs sufleb wppbd Ganseuntosdabien

(C) Cueeawen whpb cllenency HAGLL

(D) Cueenwnen Lngimglli:- unforeiyenan(®

The hardness of water is estimatated bjr uamg

d Chelating Agent (B) Oxidising Agent
{(C) Reducing Agent _ (D) Neutralising Agent -
Farrent e n.mm Sig.and Fenennen Siarell Lwenufib syerfl ———W
(A)  QsrPsbearic syafl B) seigCapy sgafl

(C) phésh syef D) mEAsewUTEED sraf
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Match the following lists : :
List-I List-II

(a) Neomycin 1.  Streptomyces fradiae
(b) Terramycin 2.  Penicillium notatum
() Viridin 3. Streptomyces rimosus
(d) .Penicillin 4. Gliocladium virens
(a) (b) (c) (d)
(A) 3 1 4 2
B 3 4 1 2
w1 3 4 2
D) 4 1 2° 3
Gemeumevemeupenml QUrmEgs :
g wé-1 L g we-TI
(a) FCwnenwfler 1: ev_GQrlGe renndlay LUmg G
(b) Qupmenwndlen 2. Gueaflfesiub ApmEL L tb
(c) efflgen 3. s @riGLremodlev AGLomas
(d) Guefifleien 4. seaaGursGemgwib sflryemen
{a) (b) (c) (d)
@a 3 '1 £r 2
By 3 4 1 2 -
Cc 1 3 4 2
(D) 4 1 2 3

The ground state energy of the electron in the Hydrogen atom is
-13.6 eV 3 (B) -3.41eV
(C) +13.6eV D) -10.5eV

@ ge siggiellgnerar eradL preflen senyol L yhmeailen wdly
(A) -13.6eV 2 B) -3.41eV
“(C) +13.6eV ' D) -10.5eV
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Which of the following instruments has lowest resistance?
(A)  Moving Coil Galvanometer
0-1 A Ammeter

w/ 0-10 A Aximeter

(DY Voltmeter

Senau(mib smpemusaiies genflen Wensem e Geanpay
(A) @ﬁ: B S(HeT sreveuamBbLL i
(B)  0-1A sy i
4O 0-10 A pubibc L #
(D)  Geumed B Lir

The quantum energy in a lattice with elastic wave is called

(A)  photon ' \M phonon

(C) electron (D) proton

BLE samawdrer g(m sieflECaraaifan Gairamib syhmed

eremILI(BLb.
(A) CumiiLmen CB)  Curammen
(©) m‘mﬁstqmér . : D)  yGom_Lnmew
Hybrid vigour is due to |
. (A) Homozygosity m{etemzygnait_:y
(C) Linkage (D) Mutation
salnfear dflun Gsemd gpuidapg _
(A essuregnssde @emenay - (B) geaaunuragnssefien Geara

(C) uregnésatiern Genara, (D)  wrugy wrHDL
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The concept which states that “An acid is a substance which can accept electrons” |

(A) _Arrhenius concept (B) Lowry and Bronsted concept
Lewis concept (D) Lux-Flood concept

@ siflon aaiu@ag aw grarsmer gibs sgw g Carob aend samicUEl

(A)  wiadafiue Qsrdrens (B) Qaerfl wHmb LgrenevGi L Glmrma;

(C)  gnev Gsnevens (D) wéei- -Ler_ Asrarens

Carborundum is ) .
(A) Boron carbide {(B) Calcium carbide

(C)  Tungsten carbide N@#7” Silicon carbide
smiGunyeim_Lb ereiLigy

(A)  Cunyrer srieu(® _ ' (B) smodwib srienu®
(C)  Lhdv_én smienu( (D)  Hedlsren snitenu®

Identify the most suitable biofertilizer for casuarina cultivation

(A) Rhizobium \J¥” Frankia

(C) Aszolla _ (D) A=zospirillum
Epaeim_cupmier Fabe LY eweTTlLEES sfwurer pamaullT eqb erg?

(A)  epGamuib ' ®) Gyridun

(C) =Csran D) =GsrevenLimedand

Colostrum ie rich in which class of these antibodies?

e IgA (B) IgE

(C) 1gG ; (D) Ig_M

Sbunalle epg euens arFirAunlser siflswrs sremrluBddmpen?

A IgA (B) IgE
C IgG : (D) IgM
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Match the following and choose the correct option :

(a) Urea L [Ca(NO,), NHNO,]
(b) CAN | 2. (NH,),CO '
(¢) Caleium cyanamide 3. 3CaH,(PO, ),?
(d) Triple super phosphate 4 CaNCN
7~ (b) (c) (d)
2 1 4 3
(B) 4 3 2 1.

(C) 3 4 1 2
Dy 1 4 3 2

igﬁnﬁrwmm GQurmgd sfwren eflen_eow CHBEASEH : |

(@) wyflur 1. [Ca(NO,),-NH,NO,]
(b) CAN 2. (NH,),CO

(¢) sriéflwb swereno(f 3.  3CaH,PO,), .

@ e @ouF uTEGUL. 4. CaNCN

(a) () (c) (d)
(4) "
(B)
(©)
(D)

P Q3 oW B2
W LD
Lo = PO R
b:ut'c.r—l-m

Which of the following is not seen in the protoplasm?

.gf Cell wall (B) Nucleus
(C) Endoplasmic reticulum (D) Golgi bodies

& peumauaneupmieT ergl LGTTL GLmSamsgHie) srearLg Gldaeme?
(A) . Qs seuit . ®)  Husefiud
(C) eenCGLmermen cuanar (D) Caréddl o muser
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Which one of the respiratory process is otherwise called as amphipholic cycle?
(A) Glycolysis

‘W‘ Kreb’s cycle

(C) Phosphorylation
(D) Pentose phosphate pathway

s sautdsse Papsfaw gyb. ACurdli spHél aereyb Si@pssLLEEDE?
A) AeveraCGaranedien

B) Ayiev sppd

(C) umevufisyesmd

(D) QuenCGrmen urevGuL aufiFsi-Lb

What is the Body Mass Indgx (BMI) of a normal adult?
26-29 . e (B) 3040

\pf 19-25 - (D) 14-22

-

Quilweiisefier 2 Flenp eray (BMI) auenquenp ereucuarey?

v () 25-29 (B) 3040
© 1925 (D) 14-22
Neurofibromatasis WF} is disorder associated with skin and muscles. It is due to the
SUppressor gene on
(A) Chromosome-21 ¥ J Chromosome-17

(C) X-Chromosome (D) Chromosome-7

Bl Gy’ .qGﬁ'GmLLmﬂau eranp @enpLLn® Gared whpd gamsselie gréssas gHLBESID ~ @mﬁ
@opun(® erps GEMGunGsmb deérsafie gpuin g@s@ APODWTGD?

@) @CmCrCsns-21 ®) @ComGuontsmb-17
© X-gGmGonGens | (D) ECrGIGsmid>-T

www.winmeen.com Page 12




Tnpsc General Science Important Questions By Winmeen

- is the most essential component of thyroid hormone.
(A) Sodiuim “ ol Yodive,
(C) Potassium s ' - (Y Calecium

B& engrmis(h goriGorer 2 meansssdd wpéfu ukig awdsdeamg

(A)  Gemgubd ,(B)  =Cwmgen
(C)  QumiLméunb (D) sréflub
Parthenogenesis is

(A) Development of fruit without hormones

(B) Development of fruit with fertilization
W Development of egg without fertilization

(D)  Development of embryo without fertilization

sdnefl @ariQumESD crampred
. (A)  aomiCuorer siHp LY caTiEs
(B)  sweupp uyp i
(C) sediupp smoplen mmﬁ#ﬁll
(D) sawel WD K cuetias)

Which of the following statement is wrong?
(A) The colourless plastids are leucoplasts

« (B) Amyloplasts are examples for colourless plastids
(C) Chloroplasts are green ml-:-u_retf plastids

\jﬁr Aleuroplasts are starch storing plastids.

&Gy QsrPéstiu_Perer smpmsaiic saupreng eg?

(A  dlysCariiameav Hadr erenuenes fpwpp sexflshisamgn

B) sewGarierma e aar@al fipwpp saflsnsess o (s sm_psamE,
©) @CamGrriamme (HEer eremuamas Léms Hipwrer Gameg st -

D SALCrmiemmev Hadr eretuemeu euLniréflenen Callagbd GeTmev i SemmEL0
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The sea floor spreading theory is proposed by

@A)

W.dJ. Morgan (1967) -

V Hary Hess (1961)

(©)
(D)

&L seory uTeud CamumleL o meaursduei |

@)
®)
©
(D)

Weganer (1912)
T.C. Chamberlin (1961)

Li96ny,. Ogg. Guomiraen (1967)
e Ganev (1961)
Qausant (1912)

iq.€. Cabuiirafian (1961)

Dimensgions of momentum are

(A)
©)

ML™T
ML= T*

2_pasden uflore i semmeuen

(A)
(C)

ML*T
ML*Z T

(B) MLT
D) ML*T

Technique used in mass production of integrated chips is

(A)
(

photography
photo lithography

(B) - atomic force microscopy
(D) holography

gomdearssiul L. fAlsaa 2ifls oerefld Galwiu@auspsrs aBs  Gsmfdpt Lib

vwenL(BEsuUBEDS?
(A) SCGum Gondlpm®
(C) CGurlGLrSgGandym@

- (B) agpeflens anwnsCrranCama
(D) GaorGerdyma '

www.winmeen.com
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- A satellite is orbiting the earth, if its distance from the earth is increased, then
(a)  1its angular velocity would increase
(b)  its linear velocity would increase .
{c) its angular velocity would decrease
(d) its time period would mcrease -
(A) (a)and (b) are correct (B) (a) and (c) are correct
(C) (b) and (c) are correct y (c) and (d) are correct

fm Qaugumsﬁsrrd‘r gtﬁlmma sl eumflenmg. yelluSelmis <isem smmuurrmﬁu‘i]m Ggmenavey
VALY AW )

(a) sugen Garews Slens (Ea:m a@sﬁrm ENC

(b) wgear Gmrrﬁsm_@§ Seng Causib sflafiss s

(©)  Ssigen Caramg fens Causld Gepws sBid '

(d)  siger spmOUTegaML G aperp SHHl aumbid Sraid SiBsfliss s (o

(A)  (a) wopd (b) sflwreneneu - (B)  (a) whpw () sflwrerenau
(C) ' (b) wpmgub (c) efwreneneu (D) (c) wppd (d) sflwrereney

Find out the mwrrect stat.emenb(s)

8 Magnesium can reduce oxides of Alummmm, Zinc, Iron and Coppor
II.  Copper cannot reduce the oxides of Iron and Zinc

III.  Zinc can reduce the oxides of Al and Mg

IV.  Aluminium can reduce the oxide of Mg

(A) TlandII . . G Wand1V -
(C) 1III alone : (D) IV alone
Seuprien QerpQpm_ismars sraws :

L S faflub, His, Gmby LHHID STOLIT YbaevBHaamar Gmsd&mbg@ésw Qe dpg
IL  @mbdy whgbd fiis smewBsamer sTULT @HEGuHOm -

L. siglefiubd whgb Qusdtflusdar ssmaDamar Hiis gOEEEADS

IV. Quéatfughen aysmsamL asgifaflub @R&EEADs

A Tuopgo Il : ®) NIlwpgd IV
© 1w ®) IV o.Gib
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The blue colour in Borax Bead test is due to the presence of

(A) Iron (B) Nickel
U Cobalt . (D) Zinc

Cumyréeuioanf Mm fo fosag Gm@ﬁ@mpﬁmm

A g B) fasw

(C)y Csmumd_ : D) #&as

Choose the incorrect match : :

(A) Baking suda Sodium hydrogen carbunate

(B) Washing soda — sodium carbonate '

(C) Bleaching powder — Calcium oxychloride ~
" Limestone - Calcium sulphate

geupnen Aunmissens Caia) Aels :
(A)  seswwed Gemm— ﬂanq.ﬁ.ﬂ._b ang TR sTTGLTGen.
- (B saeoe Gomim - Gemguwid sriuGen :

(C) ﬂsﬁﬁn? gher — anaf b syéellEGarmeny®
D) sewrambyssd — sraflub soGul
" Which one of these are called pohmorphnnucleﬁr lewcocytes?
(A) T. Lymphocytes
W Neutrophils
(C)  B. Lymphocytes
(D)  Monocytes

BeaupBlés ergy LmellomiGum HujgeaRwnnt amgcs;mmu,m srmau@mﬁ;.m
Ay T. :ﬂL’aGunmf_ﬂiT ‘

B)  FylCrmIdoser

(C)  B. dibCurensl ser

D) GCurGamens ser
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- The biogenesis of 80 S ribosomes takes place in
(A) : Nucleus

v# Nucleolus

(C) Golgi complex
(D) Endoplasmic reticulum

80 S eopCunCembser 2 PuGHwTGD GL1b

@) Pusdaiucd

B) PusdaiCuraen

(C) Caralsam Gply

D) earCGmieamevids auene

A sample of 100 persons, 84 were Phenyl thiocarbamide tasters (T). Calculate the gene
frequency of non-tasters (t)

@) 06
B 04
© 02 :
®) 08

100 puisedr QaraL wrhde Sdmad sCurstiuaw® (T) soa o amiGaunt 84 Guir erenpred,
s 2 ageuisafien ger flapQeucir (t) wens samsdl(d

A) 06
®B) 04
(€ 02
® 08

Transposons were originally discovered from which of the following

¥ Maize - ) (B) Human

; (C)  Fruit-fly-Drosophila (D) _Bacterium

' ;g}mLﬂ[ﬁjﬂdi grencuGursTen pgald arsafid @mba sew® g sE000 L gH?
(4)  wssrECememd '  (B) weilger
(C) -y ConCGemSen i M)  ursgfur
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The hormene responsible for the process of parturition
(A)  Thyroxine | . \9( Oxytocin
(C) Secretin (D) Vasopressin

waliGug Bepsfenu efleyayiu@isio apmiGuorer arg?
(A)  evgyréflen : (B) p&efCLrfler
(©) Qséfigen e (D) aunCemSyden

How many anbnndgs must be there between two nodes?

\w’l ' ' . B 2

D) 4

@m@ s@ssEnsfen_Gu arhsmen afisguése Gmsen?
A 1 B) 2
© 3 D) 4

A copper wire has a resistance R. On doubling its length, the specific nsamta.me will
(A)  be halved (B) be doubled
(C)  become four times y remain the same

@0 smilrs swdden Hengan R. oigen Bemb @ mun’mrr:isuu@mﬂur@ T Lﬂﬁ'ﬁml.. ereiT
(A)  urdl syeEn B @m ml_rimn(gﬁ |
(C)  preng wLksrEw (D) wrpuLTsy
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Why tungsten is used in Bulbs? - =

(A)  Natural Source of Light ) (B) Easy to Bend
y Melting point is high " (D) It absorbs heat

Gllp dlerégaefianr Lkisvan gen LweanPssLLEEDES? :
(A)  gupes gafl apad » B) eelifd cumenés apigiyib
© epsfonsfsn s D) @ Aaiugeas o Higab gy wug

Colours of thin film is because of the phenomena rﬂf o .
(A)  diffraction of light ' . - (B) refraction of light
" interference of light (D) polarisation of light

ﬁm Quen uLajfld Careanpih BphisEsssrear g UM sm;-:ln.'u
(A)  qefl dlefiby eflenerey i (B) geafl dlaasd
(C)  gafl Zpsdl @ eleneray . (D) qef gor cflenemey

Which of the following is/are corect?

I. Conjugate acid of NH, is NH; -

II. Conjugate base of HN, is N |

III. HCO;Z can act both Bronsted acid and Bronsted base

(A) TandlII g Tland

(C) TandlIll (D) I IlandIII

Aeneumeuaneupmier sflwrengy ergferenau?
. NH, & Gearr sl NH;
II.  HN,; én Gevemr smmib N
L HCO;, Gprénevi i siflawnseid e smorae)b Qaudu@n

(A I opoub II (B) II whmn IIT
(C) T wpg IIT (D) I, 11 mpgo ITI
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‘Match the compounds with mﬁect oxidation number of the underlined :

Compounds _ Oxidation number

(a) Cr©:CL 1 + 7
(b) Mn OsCl 2. +2
(cy NH:20H . A |
@ OF: 4 +6

(a) (b) (c) (d)
A) 4 1 2 3

4 1 3 2
© 1 3 2 4
(D) 2 4 1 3

@srrmmmﬂm g GamgL .ﬂgmmm Sigen 58pCanpp aranser e Qurmsas
Cafpiisar _ Wﬁrﬁ: D) eTessT

(a) Cr0:Cls
(b) Mn Os Cl 2. +2
0 NH:OH g, =1
@ QF: 4. +6
: (a) (b) (c) (d)

(A 4 1 2 3

B) 4 1 3 2 -

© 1 3 2 4

D) 2 4 T 3

KCIlOs, being an oxidising agent, during reaction, muverta to KCJ, where the umdahun
number of ‘CI' decreases from - to

(A) +3to—1 _ G +5t0-1

(C) +1to-1 . . (D) +4to-1

qﬁ-ﬁﬂﬁa@ﬁﬂm apseugren KC10s, Cauflufwe eflenen wrhmiSen Gurrg KCl 4 diGdng. :ﬂ@m

‘Cl' sjweflu@en sallgGanppn Hene ———— dimhg ————— <45 @Hpﬂmg
@ +3t0-1 B) +5to—1
©- +1to-1 (D) +4to—1
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Tnpsc General Science Important Questions By Winmeen

Consider the following statement and choose the correct combination :
(i)  Mycorrhizae help in phosphorus mobilization '
(ii)  All the plants are associated with Mycorrhizae

A ()is correct and (i) is wrong ®) () is wrong and (i) is correct
(C_} both (i) and (ii) are wrong .. (D) both () and (ii) are correct |

- Spsam_ aurddluiismer seuafl wHpib sAwime Qurrw;};'ﬁgfrﬁﬁgg :
1) ursbuge greurhsERES daés mwaCstarstdsar 2 saydlag
(i) eoorgrarisder Cursalid awsCsramyst sl () aumpsans pLigdapg
@A) @ ef i) gy . B) () geum (ii) &f
©) () vppwbd (1) geig M) (@) wpmibd (i) #A

4

Match the following and choose the correct option :

(a) Robert Hooke ; RBC and Yeast cell
(b) Robert Brown ' 2. Cell theory
(¢) Leeuwenhoek 3. Discovery of cell
(d) Schieiden 4 Discovery of nucleus
(a) (b) (c) (d)
A 1 2. a 4
3 4 1
)y 2 3 4 1
(D) 3 4 2 1

£Cy sTOLCLenausener Qusad, sflwurer eflenienwi CHIHESE -

(a) prufl anvsE 1 faudsugy wpmubd el Ged
(b) prum’ direyer 2 Qe Auwifl
(c) cleueman=& 3. Qeeh et (B Tg.Liy
d) evdafienr 4. Puysedueh serdiGi iy
(a) B (o) (d)
A 1 2 3 4
@ 3 4 1 2
© 2 3 41
(o) 3 4 2 1
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